

On a Theorem on the Sizes of Conjugacy Classes of a Finite Group

Yongcai Ren

School of Mathematics, Sichuan University, Chengdu, China

Email address:

18981711749@163.com

To cite this article:

Yongcai Ren. (2025). On a Theorem on the Sizes of Conjugacy Classes of a Finite Group. *International Journal of Theoretical and Applied Mathematics*, 10(4), 51-53. <https://doi.org/10.11648/j.ijtam.20241004.11>

Received: 12 July 2024; **Accepted:** 18 December 2024; **Published:** 13 January 2025

Abstract: In this note, we provide an independent proof of a known result on conjugacy class sizes of a finite group.

Keywords: Finite Group, Conjugacy Class Size, Primary Element, Biprimary Element

1. Introduction and Preliminaries

Throughout this paper, the term group always means a group of finite order. The letter G always denotes a group. For an element x of G , $o(x)$ denotes the order of x , and x^G denotes the conjugacy class of x in G . $|x^G|$ is called the size of the conjugacy class x^G , that is the positive integer $|G : C_G(x)|$. We write $\pi(G)$ to denote the set of the prime divisors of the order $|G|$ of G . For a prime $p \in \pi(G)$, G_p denotes a Sylow p -subgroup of G , and $G_{p'}$ denotes a p -complement of G . The further unexplained notations are standard and can be found in [1].

Let $x \in G$. We say that the element x is primary if $o(x)$ is a power of a prime; We say that the element x is biprimary if $o(x)$ is divisible by exactly two distinct primes. A primary element is also called an element of prime-power order.

Let G be a non-abelian group. We say that G is a Baer-group if the conjugacy class size of every primary element of G is a power of a prime (see [2]).

For any group G , we write

$$T(G) = \{x \in G - Z(G) | x \text{ is primary or biprimary}\}.$$

We say that a non-abelian group G is a B -group if $|x^G|$ is a power of a prime for every $x \in T(G)$.

By using [3, Corollary 2] and some arguments in its proof, we can get the following.

Theorem A. Let G be a non-nilpotent group. Suppose that G is a B -group. Then the following propositions hold:

(1) There exist two different primes $p, q \in \pi(G)$ such that $G = PQ \times A$, where A is an abelian $\{p, q\}'$ -group, P is

an abelian Sylow p -subgroup of G , Q is an abelian Sylow q -subgroup of G and $Q \trianglelefteq G$.

(2) $P \cap P^g = O_p(G)$ for each $g \in G - N_G(P)$.

(3) Write $K = PQ$. Then $K/Z(K)$ is a Frobenius group with the Frobenius kernel $QZ(K)/Z(K)$. In addition, the following two statements hold:

(3a) If K has no non-trivial abelian direct factors, then $Z(K) = O_p(G)$.

(3b) Let K_1 be minimal such that $K_1Z(K) = K$. Then, $K_1/Z(K_1)$ is a Frobenius group with the Frobenius kernel $(K_1 \cap Q)Z(K_1)/Z(K_1)$ and $Z(K_1) = O_p(K_1) = K_1 \cap O_p(K)$.

Theorem A is an improvement of [4, Corollary 2.2] and the necessary part of [4, Theorem 2].

The proof of [3, Corollary 2] uses the structure theorem on Baer-groups (see [2] and [3, Theorem 3]). The proof of the structure theorem on Baer groups is long or uses a lot of other results. So, in this note, we provide an independent proof of Theorem A without using the structure theorem on Baer groups in [2] or [3].

By Theorem A, we immediately get the following.

Corollary B. Let G be a non-nilpotent group. Suppose that $|x^G|$ is a prime for every $x \in T(G)$. Then there exist two different primes $p, q \in \pi(G)$ such that $G = PQ \times A$, where A is an abelian $\{p, q\}'$ -group, P is an abelian Sylow p -subgroup of G , Q is an abelian Sylow q -subgroup of G and $Q \trianglelefteq G$. Furthermore, $G/Z(G)$ is a Frobenius group of order pq .

Below, we list several elementary lemmas which will be used in the sequel. The proofs of these lemmas are easy. The

following Lemma 1.1 and Lemma 1.2 are well known.

Lemma 1.1. Let $x \in G$. Assume that $o(x) = p_1^{m_1} \dots p_n^{m_n}$, where p_1, \dots, p_n are distinct primes and m_1, \dots, m_n are positive integers. Then $x = x_1 \dots x_n$ with $o(x_i) = p_i^{m_i}$, and $x_r x_s = x_s x_r$ for $s, r = 1, \dots, n$. Furthermore, there exist integers k_i such that $x^{k_i} = x_i$ for $i = 1, \dots, n$.

Lemma 1.2[4, Lemma 1.1]. Let G be a group, and let N be a normal subgroup of G .

(1) For every $x \in N$, $|x^N| \mid |x^G|$.

(2) For every $x \in G$, $|(xN)^{G/N}| \mid |x^G|$.

Lemma 1.3[3, Lemma J(i)(1i)]. Let G be a group and $x \in G$. If $K \trianglelefteq G$ and $K \not\leq C_G(x)$, then $p \mid |x^G|$ for some $p \in \pi(K)$.

Lemma 1.4[3, Remark 2]. Suppose that x_1, \dots, x_k be the system of representatives of the noncentral conjugacy classes of a non-abelian group G . Then $G = \langle x_1, \dots, x_k \rangle$.

2. The Proof of Theorem A

By Lemma 1.1 and Lemma 1.2, the following Lemma 2.1 holds.

Lemma 2.1. Let G be a B -group, and let N be a normal subgroup of G . Then

(1) If N is non-abelian, then N is a B -group.

(2) If G/N is non-abelian, then G/N is a B -group.

Lemma 2.2. Let G be a non-nilpotent B -group. Then G is solvable and $|G : F(G)|$ is a power of a prime, where $F(G)$ is the Fitting subgroup of G .

Proof. For a group K , if there exists a non-central element x of K such that $|x^K|$ is a power of a prime, then K is not a non-abelian simple group (see [1, 15.2 Theorem, p.190]). So, every B -group is not a non-abelian simple group, and thus by Lemma 2.1 we conclude that every B -group is solvable. In particular, G is solvable.

Since G is solvable and non-nilpotent, we have that $1 < F(G) < G$. Since $F(G/\Phi(G)) = F(G)/\Phi(G)$ and $F(G/Z(G)) = F(G)/Z(G)$, by Lemma 2.1 and induction on $|G|$, we can assume that $\Phi(G) = 1$ and $Z(G) = 1$. It follows that $F(G)$ is abelian (see [5, III. 4.5]) and there exists a subgroup A of G such that $G = AF(G)$ and $A \cap F(G) = 1$ (see [5, III. 4.4]). Hence, we have that $|G : F(G)| = |A|$.

Let N be a non-trivial normal subgroup of A . Set $K = NF(G)$. Then $K \trianglelefteq G$ and $F(K) = F(G)$. By Lemma 2.1 and induction on $|G|$, we conclude that $|K : F(K)|$ is a power of a prime, and so $|N| (= |K : F(G)| = |K : F(K)|)$ is a power of a prime. So, we have proved the following statement (*):

(*) Let N be a non-trivial normal subgroup of A . Then $|N|$ is a power of a prime.

Let M be a maximal normal subgroup of A . We have that $|A : M| = p$, where p is a prime. If $M = 1$, then we are done. So, we assume that $M \neq 1$, and thus by the above statement (*) $|M|$ is a power of a prime q . If $q = p$, then $|G : F(G)| (= |A| = p|M|)$ is a power of the prime p , and we are done. Hence, we assume that $q \neq p$ and deduce a contradiction.

Write $M = Q$. We have that $A = PQ$, where P is a p -group, Q is a q -group, $Q \trianglelefteq A$ and $|P| = p$. We have that $P = \langle x \rangle$ with $o(x) = p$. Then we have that $A = PQ = \langle x \rangle Q$.

Write $F = F(G)$. Let $C = C_A(F_{q'})$. Clearly, $F_{q'} \neq 1$. We have that $C \trianglelefteq A$. Since $F(G)$ is abelian and $Z(G) = 1$, we have $C < A$. Then, noting that $A = PQ$, by statement (*) we conclude that either $|C| = 1$ or $|C|$ is a power of p or a power of q .

Assume that $|C| \neq 1$ and $|C|$ is a power of p . Then we have that $P = C \triangleleft A$. Noting that $Q \triangleleft A$, we have that $A = PQ = P \times Q$. Then by statement (*) we conclude that $|Q| = q$ and $Q = \langle y \rangle$ with $o(y) = q$. It follows that $A = \langle x \rangle \times \langle y \rangle$.

Assume that $|C|$ is a power of q (including $C = 1$). Then $P (= \langle x \rangle) \not\leq C_G(F_{q'})$, and so by the hypothesis and Lemma 1.3 we conclude that $|x^G|$ is a power of a prime r with $r \neq q$. Noting that $A \cong G/F(G)$, by Lemma 1.2 we have that $|x^A|$ is a power of a prime r with $r \neq q$. Therefore, noting that $Q \trianglelefteq A$, by Lemma 1.3 we conclude that $Q \leq C_A(x)$, and so $A = \langle x \rangle \times Q$. It follows by statement (*) that $Q = \langle y \rangle$ with $o(y) = q$ and $A = \langle x \rangle \times \langle y \rangle$.

Clearly, xy is a biprimary element, that is, $xy \in T(G)$. Then by the hypothesis $|(xy)^G|$ is a power of a prime t . Hence, by Lemma 1.3 we have that $F_{t'} \leq C_G(xy)$, and thus by Lemma 1.1 we have that $F_{t'} \leq C_G(\langle x \rangle \times \langle y \rangle) = C_G(A)$. Noting that F is abelian, we conclude that $F_{t'} \leq C_G(AF) = C_G(G)$, and thus $F_{t'} \leq Z(G) = 1$. It follows that $F = F_t$ and $G = AF = AF_t = (\langle x \rangle \times \langle y \rangle)F_t$. Since $QF = \langle y \rangle F_t \trianglelefteq G = AF_t$ and $PF = \langle x \rangle F_t \trianglelefteq G = AF_t$, we have that $p \neq t \neq q$. Let $z \in F_t = F$. Since F is abelian and $|z^G|$ is a power of a prime by the hypothesis, we conclude that $|z^G|$ is either a power of p or a power of q . It follows that $F = C_F(x) \cup C_F(y)$, and thus either $F = C_F(x)$ or $F = C_F(y)$. Then either $x \in C_G(F)$ or $y \in C_G(F)$. Noting that $C_G(F) \leq F$ (see [5, III. 4.2]), we have that either $x \in F$ or $y \in F$, contradicting the fact that $A \cap F = 1$. This completes the proof.

Lemma 2.3. Let G be a non-nilpotent B -group. Then there exist two distinct primes $p, q \in \pi(G)$ such that $G = PQ \times A$, where A is an abelian $\{p, q\}'$ -group, P is an abelian Sylow p -subgroup of G , Q is an abelian Sylow q -subgroup of G and $Q \trianglelefteq G$.

Proof. By Lemma 2.2, $G = PF(G)$, where P is a Sylow p -subgroup of G for some prime $p \in \pi(G)$. Set $F = F(G)$. Then $G = PF = PF_{p'}$.

Step 1. Let $q \in \pi(G) - \{p\}$. If F_q is non-abelian, then P centralises F_q .

We have that $F_q \trianglelefteq G$. Let $x \in F_q - Z(F_q)$. $|x^{F_q}|$ is a power of q , and so by Lemma 1.2 we conclude that $|x^G|$ is a power of q because G is a B -group and $x \in T(G)$. Then, since $G = PF$ and F is nilpotent, there exists an element $t \in F_q$ such that $P \leq C_G(x^t)$, and thus by Lemma 1.4 we conclude that $P \leq C_G(F_q)$.

Step 2. Let $r, q \in \pi(G) - \{p\}$ with $r \neq q$. Suppose that F_r is abelian and F_q is non-abelian. Then $P \leq C_G(F_r)$.

Let $x \in F_r$ and $y \in F_q - Z(F_q)$. We have that $F_r F_q =$

$F_r \times F_q$ and $xy = yx$. Since F_r is abelian and $y \notin Z(F_q)$, $|(xy)^{F_r \times F_q}|$ is a power of q . Clearly, $F_r \times F_q \leq G$. Then by Lemma 1.2 we conclude that $|(xy)^G|$ is a power of q because G is a B -group and $xy \in T(G)$ (xy is a biprime element). Then, noting that $P \leq C_G(F_q)$ by Step 1, it is easy to see that $P \leq C_G(x)$. Hence, we have that $P \leq C_G(F_r)$.

Step 3. $F_{p'}$ is abelian.

Suppose that $F_{p'}$ is non-abelian. Then, by Step 1 and Step 2 we conclude that $P \leq C_G(F_{p'})$, and thus $G = PF = PF_{p'} = P \times F_{p'}$. This implies that G is nilpotent, a contradiction.

Step 4. P is abelian.

Suppose that P is non-abelian. $|x^P|$ is power of p for every $x \in P - Z(P)$. Then, since $P \cong G/F_{p'}$, by Lemma 1.2 we conclude that $|x^G|$ is a power of p for every $x \in P - Z(P)$ because $|x^G|$ is a power of a prime by the hypothesis. Hence, by Lemma 1.3 we conclude that $F_{p'}$ centralises $P = < P - Z(P) >$, and thus $G = PF_{p'} = P \times F_{p'}$. This implies that G is nilpotent, a contradiction.

Step 5. There exists a primes $q \in \pi(G) - \{p\}$ such that $G = PQ \times A$, where A is an abelian $\{p, q\}'$ -group, Q is an abelian Sylow q -subgroup of G and $Q \trianglelefteq G$.

Let $x \in P$. Since P is abelian by Step 4, by the hypothesis $|x^G|$ is a power of a prime q with $q \neq p$. Let $y, z \in P$ with $y \neq z$. Then $|y^G|$ is a power of a prime r with $r \neq p$, and $|z^G|$ is a power of a prime q with $q \neq p$. Suppose that $r \neq q$. Then by Lemma 1.3 we conclude that $F_q \leq C_G(y)$ and $F_r \leq C_G(z)$. It follows that $F_r \not\leq C_G(yz)$; otherwise $F_r \leq C_G(y)$ and $|y^G|$ is not a power of r , a contradiction. Hence, by Lemma 1.3 we conclude that $|(yz)^G|$ is a power of r , and thus $F_q \leq C_G(yz)$. It follows that $F_q \leq C_G(z)$ and $|z^G|$ is not a power of q , a contradiction. So, for every non-identity element x of P , $|x^G|$ is a power of a same prime q , and thus by Lemma 1.3 we have that $F_{q'} \leq C_G(P)$. Noting that $F_{p'}$ is abelian by Step 3, we have that $G = PF = PF_{p'} = PF_q \times F_{\{p, q\}'}$. Let $Q = F_q$ and $A = F_{\{p, q\}'}$. Then $G = PQ \times A$, where A is an abelian $\{p, q\}'$ -group, P is an abelian Sylow p -subgroup of G , Q is an abelian Sylow q -subgroup of G and $Q \trianglelefteq G$. This completes the proof.

Lemma 2.4. *Let G be a non-nilpotent B -group. Assume that $G = PQ$, where P is an abelian Sylow p -subgroup of G , Q is an abelian Sylow q -subgroup of G and $Q \trianglelefteq G$ (p and q are two distinct primes). Then $G/Z(G)$ is a Frobenius group with the Frobenius kernel $QZ(G)/Z(G)$. In addition, the following two propositions hold:*

(i) *If G has no non-trivial abelian direct factors, then $Z(G) = O_p(G)$.*

(ii) *Let K be minimal such that $KZ(G) = G$. Then, $K/Z(K)$ is a Frobenius group with the Frobenius kernel $(K \cap Q)Z(K)/Z(K)$ and $Z(K) = O_p(K) = K \cap O_p(G)$.*

Proof. Let $x \in G$. We have $x = zy = yz$, where z is a p -element and y is a q -element. Since G is a B -group and $\pi(G) = \{p, q\}$, we have that $|x^G|$ is either a power of p or a power of q . If $|x^G|$ is a power of p , then $|z^G|$ is also a power of p (see Lemma 1.1). Then, since z is a p -element and Sylow

p -subgroups of G are abelian, we have that $|z^G| = 1$, and thus $z \in Z(G)$. By the same argument we conclude that, if $|x^G|$ is a power of q , then $y \in Z(G)$. So, either $z \in Z(G)$ or $y \in Z(G)$. It follows that the order of every element of $G/Z(G)$ is a power of a prime. Then, noting that Q is normal in G , $G/Z(G)$ is a Frobenius group with the Frobenius kernel $QZ(G)/Z(G)$ (see [6, p.121, Problems (7.1)]).

Next, we prove proposition (i). By Fitting's Lemma (see [7, Theorem 2.3, p.177]), we have that $Q = [P, Q] \times C_Q(P)$. Clearly, $Z(G)_q = C_Q(P)$. Then, since G has non non-trivial abelian direct factors, we have that $Z(G)_q = 1$, and thus $Z(G) = Z(G)_p$. Clearly, $Z(G)_p = O_p(G)$. So, we have that $Z(G) = Z(G)_p = O_p(G)$. This completes the proof of proposition (i).

Finally, we prove proposition (ii). Since $KZ(G) = G$, we have that $Z(K) = K \cap Z(G)$ and $G/Z(G) = KZ(G)/Z(G) \cong K/(K \cap Z(G)) = K/Z(K)$. Then, since $G/Z(G)$ is a Frobenius group with the Frobenius kernel $QZ(G)/Z(G)$ (see proposition (i)), $K/Z(K)$ is a Frobenius group with the Frobenius kernel $(K \cap Q)Z(K)/Z(K)$. By the minimal property of K and by Fitting's Lemma we conclude that $Z(K)_q = 1$ and $Z(K) = O_p(K) = K \cap O_p(G)$, completing the proof of proposition (ii). The proof is finished.

Proof of Theorem A. By Lemma 2.3 and Lemma 2.4, statement (1) and statement (3) of Theorem A are true. By statement (1) and statement (3) of Theorem A we conclude that statement (2) of Theorem A holds (see [6, (7.1), p.99] and [1, 16.1, p.196]). This completes the proof of Theorem A.

Conflicts of Interest

I have no competing interests.

References

- [1] B. Huppert, Character Theory Of Finite Groups, Berlin: Walter der Gruyter, 1998.
- [2] R. Baer, Group elements of prime power index, Trans. Amer. Math. Soc. 75(1953).
- [3] Y. Berkovich, L. Kazarin, Indices of elements and normal structure of finite groups, J. Algebra 283(2005), 564-583.
- [4] D. Chillag and M. Herzog, On the length of the conjugacy classes of finite groups, J. Algebra 131, 110-125 (1990).
- [5] B. Huppert, Endliche Gruppen I, Springer, Berlin, 1967.
- [6] I. M. Isaacs, Character theory of finite groups, Academic Press, INC., 1976.
- [7] D. Gorenstein, Finite Groups, Harper and Row London / New York, 1968.